I

2 £ R &
3 AR BB
4+ B OB B
5 £ & &
6 S| R
T B =
8 iR R
9 Kk IiF H X
o & B K
1 EHRERSE
12 £ B I
13 {& # &R 4t

72
i 2-0
AL
_________i 2-0
32
i 2-0
L i
_________ oo !
W
e
2-1
P o s i
.......... S i
10 ]
21 i
e g e o |
P21
it i
I !
Lt |
2-0

2-0

T2 5 FERBESFFRIABERET AR

BFHIA

S
2-0 |
L m
20 .
S
2-0 i
! B
i 20 G
b
S
] 7 5%
i N
] A
A -
! ! Et
i i 2o i
R |
=
et |
I 20
Rl |
2-0

R B A
2 A F b
A [5
5 IR
X & I
X *
i (55
R =
kE B 4t
kE & ®

R R
1£ R 3=
k &

14

15

16

17

18

19

20

21

22

24

25



IRt| 2 {AH#HRE | 20 | 7e@EE 3 | [1IR2] 4 REE 2-1 LtHE 5
b R EQ 6-1 TH BARQ D wE #5090 9_6 HEE FEEQ
S8 mE B KED HHEH BBEQ JNE gL
St B0 XEQ [7-62| BHi#E #AQ St JNIT EihQ 6-1 A 5AQ
s2 | ENl ERQ 147 B EFQ S2 BE £&5D 6-0 XE FEXQ
1R3 | 7 5 2-1 EFREPR 6 | [1R4] 10 RIGR 2-1 EBBEX 9
b mt FED 6-2 BHF BARQ D R KIEQD 5 7 XE REOQ
3 i IR O) 2R 2 BIE ZEHRQ B BEEQ
St EIIE &S0 2-6 FA BHO St T ED 6- FK REQ
Ss2 | AiH #ED 6-1 TH 3O S2 oIl A 6-1 FE HEQ
IRS | 11 #ARSEFE | 2-0 RIBET 12 | [1R6] 156 f8F%EE | 2-0 mps 16
b BF EB&FQ 61 B EQ D 2R KiEQ 6-1 HO Z=AXQ
T8 RO BER BEQ FE BEQ ti BBFQ
S1 EE —#Q 6-1 Fl KFQ St JIE FEQ 6-2 EH BFEQ
S2 | kE #BKD 141 | EAO S2 XEB #BEAD 147 WX e
1R7] 17 SR 2-0 A#IT 18| [1R8] 20 ic] >4 2-0 e 21
b AR EEEQ 6-3 RA EE b &% O 6-4 INK GRAQ
AH EEQ 2N b EXQ = EEXED
St WH XN1@ 6-0 HE BEHO ST fBH BAD 6-1 thE sAEQ
S2 | AL KD 141 Hd @2 S2 Il ER () T4 INE ANEQ
1R9[ 22  RIGit 2-0 FEi5g 23| [IR10] 256 {tEHHREH [ 2-0 ERE 24
b # BHEOQ 4-6 A FEQ D WT MEQ 6-4 BEAR K@
BE Z&5Q o i#EQ B E#h©Q BEARK HEQ
St AP 7-5 =SE EXRQ St FE KO 6-4 X EZQ
S2 | dest EHE 6-4 Bl BAQ S2 k)l XD 140 =H HQ
2R1| 1 BE 2-0 | tRtH{RE 2 | [2R2] 4 REE 2-0 5= 7
D A —FKQ@ 6-0 R EQ b I ZMHQ 6-2 Wt F&ED
RE E##® SE WME BE REQD 3 i IR O)
S1 55 BEQ 6-0 Bl XEQ St JIIFT _E3hQ 6-3 EIIE &S0
S2 | #k KED T4 #ll ERQ S2 BE £5D Ak BIE #ED
2R3| 8 {AfH{RAR | 2-0 RIBE 10| |2R4[ 13 AR | 20 | AHESE 11
b EE XHQ 6-3 Al KEQ b IR 30) 6-3 AF EB&HQ
b8 EFXQ INEERFQ Hw_ ERO T8 RO
St WBE =KD 6-2 T ED St WA B0 6-2 EE —#0Q
S2 #l N0 141 BN S2 | AMTBARERQ 147 KB BARD
2R5 | 14 RUGILEHE | 2-0 | 8F8%RBE 15 | [2R6] 17 =15 2-1 A#t 19
b KIFFREZ N 725 XEB #EAQD D AR EEEQ 6-4 AR EBR
TEH RKOQ FE BEQ AH EEQ BE #X®
ST BH BEQ 6-0 JIE £1EQ ST WHE XN1@ 5-7 MK FEQ
s2 | den mEB—® 140 ZR KEQ S2 AT KD 6-4 THE—BQ
2R7| 22  Ri&dk 2-0 FEE 20 | [2R8] 26 RIG T 20 | AR 25
b # BHEOQ +TH] &% O b A %% 61 LT MEQ
BE Z&5Q b EXQ INEFKERD k)l XD
St [ VAP 6-2 BH BAD ST H7KER—ERD 6-2 3 PNO)
S2 | dedt EBEHE 6-1 #ll ERQ S2 2 EOQ 140 B E#hQ




3R1| 1 BE 2-0 B 4 | [8R2] 8  {AtH{RER | 2- fEHfRIE 13

T NTG)) WE Q) B ZHEQ L EEE )
EE EH#Q HE BEQ ¥ EEQ B TR

St 55 BEQ 61 T EihQ St WE =X0 6-3 L)

S2 | HH —p®@ 114 mE E#FD S2 il BENO 2-6 AMEAXERQ

3R3| 14 RIFLBE | 2-0 5 17 | | 3R4]| 26 RIGFE 2-0 Rt 22

b | RAERZN@ | o, | BF EBQ o | BHE BEQ | | & BEQ
TH RAQD AE EEQ N HE #HQ

St FH E54Q 6-0 #HHE KN St H/KER—ERD 61 AP

S2 | 4l E—@ 1Y) AL AD S2 2 #Q 1Y) itH Eth@

4R1 | 1 BE 2-0 | AR E 8 4R2 | 14 EBitizE | 2-0 pd o] 26

K KED Ei ZTEQ KERZND | 41 | BB BB
EE EH#Q hE BHEQ T8 EAQ INBFEAERQ

S1 55 BEQ 147 NP NO) St HH E54HQ 6-0 EE N O)

S2 Hf —EQ 6-0 Bl END S2 )l E—Q 6-2 2 3O

5R1| 1 B2 2-1 | RIS 14 |
b | K ARQD 61 KIFFEZNQ
EE E#Q TEH REKQ

St =l 3:203) BEH 5O

1-6
S2 Hf —FQ 6-0 )l &E—Q




